Mechanical Shear Reduction Linkage
M.S.R.
Basic Recline 4XP

Back cane
/reference only.

~

DR

7
s

-

{ e <

APty »
L4 )

A N

/ \

/ S N

Seat Side Frame
reference only.



Mechanical Shear Reduction Linkage

M.S.R.
Basic Recline 4XP

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 0258406-NLA | NLA - Screw, Socket Head, Cap (#10-32 x 1-1/4") 1 1
2 0146500-NLA | NLA - Spring, Compression (1/32 WT x 15/16" L) 1 2
3 0146622-NLA | NLA - Knob, MSR Adjustment 1 2
4 7930323-NLA | NLA - Package, Locknut (1/4-20) 25 2
5 0149624-NLA | NLA - Bracket, MSR Back Pan, Black 1 1
6 0146700-NLA | NLA - Washer, Nylon (3/16 x 5/8 x 1/16") 1 2
7 7930332-NLA | NLA - Locknut, High Profile (#10-32) 25 1
8 0195606-NLA | NLA - Screw, Socket, Cap, Flat Head (1/4-20 x 3/4") 1 2
9 0148806-NLA | NLA - Link, Upper Adjustment, Black 1 1
10 317601-NLA | NLA - Locknut, Low Profile (#10-32) 1 1
11 0149506-NLA | NLA - Screw, Socket Head, Hex (#10-32 x 1") 1 1
12 0175524-NLA | NLA - Link, Lower Adjustment, Black - Right 1 1
12 0175424-NLA | NLA - Link, Lower Adjustment, Black - Left 1 1
13 0050100-NLA | NLA - Washer, Nylon Flat (1/4 x 1/2 x 1/16") 1 6
14 0216901-NLA | NLA - Bushing, Upper/ Lower 1 2
15 0052606-NLA | NLA - Screw, Hex Head (1/4-20 x 2") 1 2
16 0146422-NLA | NLA - Spacer, Leg Link 1 1
17 7930333 Locknut (1/4-20) 25 3
18 0055506-NLA | NLA - Screw, Button Head, Socket (5/16-18 x 2") 1 1
19 0055800-NLA | NLA - Washer, Nylon (7/16 x 3/4 x 3/32") 1 2
20 0060300-NLA | NLA - Bushing, Bronze (5/16 x 7/16 x 1-1/4") 1 1
21 0055006-NLA | NLA - Locknut, Low Profile (5/16-18) 1 1
22 0051006-NLA | NLA - Screw, Hex Head Full Thread (1/4-20 x 1 1
1-1/2")
23 0217224-NLA | NLA - Link, MSR Back Post Lower, Black 1 1
24 0165424-NLA | NLA - Link, MSR Lower, Black 1 1
25 0139606-NLA | NLA - Screw, Hex Head (5/16-18 x 1") 1 1
26 0054806-NLA | NLA - Washer, Flat (11/32 x 11/16 x 1/16") 1 1
27 0050406 Washer, Flat (1/4 x 5/8 x 1/16") 1 1
28 0054700-NLA | NLA - Washer, Nylon (5/16 x 1/2 x 1/16") 1 2
29 1077512 Mechanical Shear Reduction Linkage Assembly - 1 1
Right
29 Mechanical Mechanical Shear Reduction Linkage Assembly - 1 1
Left




